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He did not learn the Gzayroh Shoh’voh — 93 KD T 10T

OVERVIEW

X7°N2 j2 770 ' chastised X2°py "M for singling out 95X as the 2oy wwpn (since
the 770 concealed his identity). The X nx asked, but ¥"1 derived it from a w" (so
it cannot be considered concealed). The X3 answered that 2"2°7 was not taught
this w"m.! Our Mmoo resolves an apparent difficulty.

n1voIN asks:
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And if you will say; but let 2"2>7 learn this 1") from '3, who received it from
his teacher —

NID0IN answers:
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And the n'"+9 says they each had a tradition the amount of W't that are

expounded in the entire 779 -
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And this v'"m, were it to be expounded, was one more than s2"217 total,
therefore 1"27 did not accept it.

SUMMARY
The a°&1n had a tradition of how many w"a there are in the entire 771.

THINKING IT OVER
Did ¥"1 have the same number of w"13 as 2"2"7, or not?>

I'See X981 71"7 *"wA (that a person cannot make up his own w"1, rather he must have received it from his teacher).
2 3" received this w"a from his teacher; so 2"21 instead of chastising v"9, should have accepted this w" from him.
3 See 0" .
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